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Note for Examinee:  
 

i) This is an objective type question paper.  

ii) This question paper consists of 15 questions. You have to attempt only 10 questions. Each 
question carries 2½ marks.  

iii) Each question has four alternatives, only one of which is correct. Mark the correct alternative 
on the question paper itself by putting the tick mark √ in the box given against it.  

ON COMPLETION, IT IS COMPULSORY FOR YOU TO SUBMIT THIS QUESTION PAPER TO YOUR 

INVIGILATOR. 

1. Burette is used to measure................ of a liquid. 

i) definite volume  ii)  definite and variable volume 

iii) known volume  iv) less accurate volume 

2. What is the molarity of sodium hydroxide solution made by dissolving 8.000 g of solution in a volumetric 
flask and adding water to the calibrated volume of 500 cm3? (Mm of NaOH = 40 g mol-1).  

i)  40.0 M          ii))  0.40 M       

iii)  20.0 M           iv)  0.03 M 

3. Which of the following has least pKa value?  

i) Phenol          ii)  Acetic acid        

iii)  Benzoic acid           iv)  Nitrous acid  

4. Which indicator you will use for the titration of 20 cm3 0.01M  NaOH with 0.01 M HCl:  

i)    Phenol red  ii)  Phenolphthalein        

iii)     Thymol blue       iv)  Methyl orange 

5. During titration of acetic acid with strong NaOH using conductometer, the sharp change in conductance 

after equivalence point is due to: 
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 i) excess of hydroxide ions   ii)  excess of hydrogen ions        

iii)     ionisation of sodium acetate       iv)  formation of H2O 

6. During determination of sodium carbonate and sodium hydroxide in mixture, the first end point indicates: 

 i)  complete neutralisation of NaOH        

ii)  complete neutralisation sodium carbonate     

iii)  complete neutralisation of NaOH and half   neutralisation of sodium carbonate          

iv)  complete neutralisation of Na2CO3 and half   neutralisation of NaOH          

7. One mole of potassium dichromate is equivalent to…….moles of potassium iodide. 

i) 1 mole       ii)   2 moles           

iii)   5  moles       iv)  6 moles 

 

8. Which of the following is a self indicator? 

i) Potassium permanganate        ii)   Diphenylammine          

iii)   Methyl orange           iv)  Sodium thiosuphate 

9. Which statement is not correct when iodine used as a titrant? 

i)    Iodine is a primary standard  

ii)          Iodine has poor solubility in water 

iii)        Iodine is volatile in nature         

iv)  Iodine is a mild oxidising agent 

10. For the preparation of standard solution you will use______ . 

i) measuring cylinder        ii)   measuring beaker         

iii)  volumetric flask            iv)  graduated pipette  

11.  Which of the substances is primary standard? 

i) Potassium hydroxide          ii)   Sodium hydroxide             

iii)  Potassium dichromate         iv)   Sodium bicarbonate 

12.    Following reaction represents: 

 2CuSO4 + 4KI + 2Na2SO4        2CuI +   K2SO4 + 2NaI + Na2S4O6        

i)  Iodimetric titration                          ii)  Precipitation titration          

iii)  Complexometric titration         iv)  Iodomeric titration 

13.  Temporary hardness is due to ……….of calcium and magnesium. 

i) bicarbonates          ii)  phosphates         
iii)  sulphates              iv)  borates 

14.  EDTA is used in ………titration. 

i) redox                            ii)  precipitation         

iii)  complexometric           iv)  iodomeric 

15.  _________ is the commonly used indicator for the determination of total alkalinity of water. 

i) Phenolphthalein        ii) Thymol blue              

iii)  Phenol red                 iv) Methyl orange 
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foKku Lukrd (ch-,l lh-) 

ekpZ ijh{kk 2021  

ikB~;Øe dksM: lh-,p-bZ-3(L):    ikB~;Øe “kh’kZd:  jlk;u foKku ç;ksx'kkyk-I (ØsfMV: 2) 

le;: ½ ?k.Vk         vf/kdre vad: 25 

Ñi;k fuEufyf[kr fooj.k nhft,% 

vuqØekad la[;k vadksa esa  

         

vuqØekad la[;k 'kCnksa esa  

         

ijh{kk dsUnz dksM 

      

 

fnu vkSj fnuk¡d……………………………….. 

 

ek/;e (vaxszth/fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

dsoy ewY;kadudrkZ HkjsaA% 

çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM:……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj dsUnz dksM ds lkFk  

ijh{kkFkhZ Ñi;k uksV djsaA :     

i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 15 iz”u gSaA vkidks bu esa ls dsoy 10 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 
2½ vad gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj 
mlds lkeus ckWDl esa √ fpg~u yxkb,A  

iz”uksa ds mÙkj nsus Ik”pkr~] iz”ui= dks vius fujh{kd dks tek djok vfuok;Z gSA  

1- C;wjsV dk mi;ksx ------------------ dks ekius ds fy, fd;k tkrk gSA 

 i) fuf”pr vk;ru  ii) fuf”pr vkSj fHkUUk&fHkUUk vk;uruksa 

iii) Kkr vk;ru  iv) de “kq)rk ls vk;ru 
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2- ml foy;u dh eksyjrk Kkr dhft, ftls 8.00 g lksfM;e gkbMªkWDlkbM ds 500 cm3 ty esa 
?kksydj cuk;k x;k gks ¼NaOH dk Mm  = 40 g mol-1 gS½ 

 i) 40.0 M   ii) 0.40 M  

iii) 20.0 M   iv) 0.03 M  

3- fuEufyf[kr esa ls fdldk pKa eku fuEure gS% 

 i) QhukWy   ii) ,lhfVd vEy 

iii) csUt+ksbd vEy  iv) ukbVªl vEy 

4- 20 cm3 0.01M  NaOH dks 0.01 M HCl ls vuqekiu ds fy, fdl lwpd dk mi;ksx 
djsaxs\ 

 i) QhukWy jsM  ii) QhukWy¶Fksfyu 

iii) FkkbekWy Cyw  iv) eSfFky vkSjsat 

5- NaOH ds lkFk ,lhfVd vEy ds vuqekiu ds nkSjku rqY;rk fcanq ds ckn pkydrk esa o`f) dk  
dkj.k gS% 

 i) gkbMªkWDlkbM vk;uksa dh vf/kdrk ii) gkbMªkstu vk;uksa dh vf/kdrk  

iii) lksfM;e ,slhVsV dk vk;uu  iv) H2O dk cuuk 

6- feJ.k esa lksfM;e dkcksZusV vkSj lksfM;e gkbMªkWDlkbM ds fu/kkZj.k ds nkSjku igyk vaR; fcanq 
bafxr djrk gSA % 

 i) NaOH ds iw.kZ mnklhuhdj.k  

 ii) lksfM;e dkcksZusV dk iw.kZ mnklhuhdj.k 

iii) NaOH dk iw.kZ mnklhuhdj.k vkSj lksfM;e dkcksZusV dk v/kZ&mnklhuhdj.k   

iv) lksfM;e dkcksZusV dk iw.kZ mnklhuhdj.k vkSj NaOH dk v)Z mnklhuhdj.k 

7- iksVSf”k;e MkbØksesV dk ,d eksy iksVSf”k;e vk;ksMkbM ds fdrus eksy ds cjkcj gS \ 

 i) 1 eksy   ii) 2 eksy  

iii) 5 eksy   iv) 6 eksy  

8- fuEufyf[kr esa ls dkSu&lk Lo;a lwpd gS \ 

 i) iksVSf”k;e ijeSaxusV   ii) MkbQsfuy ,sehu 

iii) esfFky vkWjsat   iv) lksfM;e Fkk;kslYQsV 
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9- fuEufyf[k esa ls dkSu&lk dFku xyr gS tc vk;ksMhu dks vuqekid ds :Ik mi;ksx djrs gSa \ 

 i) vk;ksMhu ,d izkFkfed ekud gS 

 ii) ty esa vk;ksMhu dh foys;rk de gksrh gS 

iii) vk;ksMhu dh ok’Ik”khy izd`fr gksrh gS  

iv) vk;ksMhu ,d ean vipk;d gS 

10- ekud foy;u cukus ds fy, vki mi;ksx djsaxs% 

 i) ekid flysaMj   ii) ekid chdj 

iii) vk;ruekih ¶ykLd  iv) va”kkfdr fiisV 

11- fuEufyf[kr esa ls dkSu&lk inkFkZ izkFkfed ekud gS\ 

 i) iksVSf”k;e gkbMªkDlkbM  ii) lksfM;e gkbMªkWDlkbM 

iii) iksVSf”k;e MkbØksesV  iv) lksfM;e ckbdkcksZusV 

12- fuEufyf[kr vfHkfØ;k izfrfuf/kRo djrh gS% 

 i) vk;ksMksferh; vuqekiu  ii) vo{ksi.k vuqekiu 

iii) ladqyferh; vuqekiu  iv) vk;ksMksferh; vuqekiu  

13- vLFkk;h dBksjrk dSfY”k;e vkSj eSXuhf”k;e ds ------------dkj.k gksrh gS%  

 i) ckbdkcksZusV  ii) QkWLQsVksa 

iii) lYQsVksa   iv) cksjsVksa 

14- EDTA dk mi;ksx ----------------vuqekiu  esa djrs gSa %  

 i) vip;ksip;  ii) vo{ksi.k 

iii) ladqyferh;  iv) vk;ksMksferh; 

15- ty dh lawi.kZ {kkjdrk Kkr djus ds fy, lkekU;r% ------------ lwpd mi;ksx esa ykrs gSa%  

 i) QhukWy¶Fksfyu  ii) FkkbekW Cyw 

iii) QhukWYk jsM  iv) esfFky vkSjsat 
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